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F: Output Linearization (OL) data IE87/10D/D87EQ7FP.DAT in File (F)

Radial grating (Siemens-star) N-Z

Radial grating (Siemens-star) W-Z

background step O 1 ringstep 0-1
Hex code Hex code
7T COQO00O00O0N s 7-8
E F E-F
2 0 2-0
s (oxeoNoNoNeNoNakKe) o 86
F D F-D

Landoalt-rings W-N

code: background-ring
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Picture C4: Landolt-rings W-N; PS operatomw*lin 1.0 exp setgray
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Picture C1: Radia gratings (Siemens-stars) N-W, W-N, N-Z and W-Z; PS oper.w*lin 1.0 exp setgray

L*/Y-7,56 33.1/0.0 48.6/9.7

(absolute)

Y=Yt+7,56

64.2/25.5 79.8/48.8 95.4/8NQmin.) Wi (max.)

*
:*CIELAB, t 0.0 0.406 0.625 0.817 1.0
CIELAB, t+r 0.0 0.25 0.5 0.75 1.0
Picture C2: 5 visual equidistabt-grey stepss NO + W1, PS operatorw*lin 1.0 exp setgray

L*Y-7,56 33.1/0.0 37.2/21 41.4/45 455/7.4 49.7/10.6 53.8/14.3 58.0/18.4

(absolute)

Y=Yt+7,56

Ng(min.) Wz (max.)

No. and
Hex code

I*
LCIELAB,t 0.0

| 0.173
CIELAB, t+r 0.0

0.067

0.275 0.354
0.133 0.2

0.422
0.267

0.484 0.542
0.333 0.4

0.598
0.467

Picture C3: 16 visual equidistalit-grey steps; PS operatav*lin 1.0 exp setgray
-_q_ ISO/IEC-test chart no. 3D according::ﬁ)g/ :gg lllég715gggg-X'output'w* setgray
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Picture C5: Line raster under 45° (or 135°); PS operattin 1.0 exp setgray
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Picture C6: Line raster under 90° (or 0°); PS operattiin 1.0 exp setgray

62.2/23.0 66.3/28.2 70.5/33.9 74.6/40.1 78.8/47.0 82.9/54.5 87.174256 9%14331.0

0.704 0.755 0.805 0.855 0.903 0.952 1.0
0.6 0.667 0.733 0.8 0.867 0.933 1.0

0.652
0.533

input: w*lin 1.0 exp setgray
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